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EE 204/ Winter 2021_Quiz#

BLACK: O » GREEN:

BROWN: 1 BLUE:

5
6
VIOLET: 7
8
9

e RED: p. .
« ORANGE: 3 * GREY:
YELLOW: 4 « WHITE:
Use t e Green, Red
and Si
The n
(2 Poin
10450 B ‘
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A student connected the tollowing arcuit with three cument sources (11 = Elk.lii"‘ﬁﬂ..
= 6 A) and he added two Ammeters (A1 and A2) and one voltmater (V).

The reading of the ammeter A2 (InA ) will be: '
{2 Points)




rla;' | E The voltage (V) across the 2 ohm resistor (involt) is: [} :
A (2 Points)

| F

6V




	photo_2021-03-30_13-18-08.pdf (p.1)
	photo_2021-03-30_13-18-15.pdf (p.2)
	photo_2021-03-30_13-18-17.pdf (p.3)
	photo_2021-03-30_13-18-19.pdf (p.4)
	photo_2021-03-30_13-18-21.pdf (p.5)

